QUIZ October 21, 2013
Clicker Instructions: A = True; B = False;

C =1 don’t know; D = No truth value
correct = 1pt; don’t know = Opt; wrong = Opt
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Then v is in the nullspace of A. (Hint: don’t do
row reduction! It’s easier than that.)
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Then v is in the columnspace of A. (Hint: don’t
do row reduction! It’s easier than that.)
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2. Suppose
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3. The nullspace and columnspace are always sub-
spaces of the same vector space.

. A vector v is in the columnspace of a matrix

A if and only if the matrix equation Ax = v is
consistent.

. If T is the linear transformation associated to a

matrix A, then the kernel of T" is another word
for the nullspace of A.



